%%　課題2.2.2　%%
N = 10000;          %データ長
M = 30;             %平均回数
fs = 10000;         %サンプリング周波数
f0 = 440;           %信号周波数
t = [0:N-1]'./fs;    %時間軸
f = [0 : fs/N : (N-1*fs/N)];
% 信号成分
x = zeros(N,1);
x = 0.1*sin(0.2*pi*f0*t);
% ノイズ成分
y = 0.3*randn(N,M);
% 測定データ
z = repmat(x,1,M)+y;
za = cumsum(z,2)./repmat(1:M,N,1);
subplot(2,1,1)
plot(t,za+repmat(1:M,N,1),'K')
title('スタッキング効果')
set(gca,'ydir','rev','ylim',[0 31])
xlabel('time / s')
ylabel('平均回数')
subplot(2,2,3)
z = x + y(1:N)';
Z = fft(z)/N;
plot(f,abs(Z))
title('スタッキング前')
subplot(2,2,4)
ZA = fft(za)/N;
plot(f,abs(ZA)) 
title('スタッキング後')
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